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DEBHAMASHEE 2014.02. 14 03:00:00 PM
&% BEIR B DERFF 4 ELH o mny =mEES & *

RHE HI—BA 4.700 7. 650 12. 350

EINT HI—BA 4. 400 7. 600 12. 000

i = SIFPA 4. 200 7. 500 11. 700

=B HHI—M 3. 550 7. 250 10. 800

X & I #BA 3. 000 6. 900 9. 900

1 RR3A HT=BA 3.100 6. 250 9. 350
& BAP A HETkEE 2014.02. 14 03:00:00 PM
&% BEIR B DLRFF & ELHFFI o mns =R Z =

RAE I —PA 4. 250 7. 550 11. 800

i 1= STFRBA 3. 950 7. 200 11.150

EINT T —BA 3.350 7. 300 0.600  10.050

=B HI—M 2.700 7. 350 10. 050

X & Il 2.700 6. 800 9. 500

VFRXEA HT=BA 2.850 6. 600 9. 450
e BLA A2 gEtER 2014.02. 14 03:00:00 PM
2% BIER B 4 DERFHI & ELHFHI 4 mnas =RBS &

R E HI—BA 4.300 7. 800 12. 100

i = SIFRBA 3.950 7. 200 11. 150

EINT HI—BA 3.900 7.000 0.300 10.600

X & N 3.150 6. 900 10. 050

FRREA HIST=BA 3. 450 6. 500 9. 950

HEB HHI—M 3.500 5. 800 9.300
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